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Hoare Triple as a Predicate
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Program Correctness: Revisiting Example (1)

class FOO {Q} s {R} = Q= wp(S,R)

1: INTEGER
increment_by 9 {-[- >3‘3 E; gq 5‘! > BE

require =Q
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Program Correctness: Revisiting Example (2)

class FOO {Q} S {R} = Q> Wp(S, R)

i: INTEGER

increment by 9 @ T:= ¢ 1:-4" { [ (3}

require
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Rules of Weakest Precondition: Assignment







Correctness of Programs: Assignment (2)

What is the weakest precondition for a program x := x + 110

establish the postcoadi Xp?
> 22
}ori= x + 1 {x=283}
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Rules of Weakest Precondition: Conditionals

wp(ifi B/then S1 else(S2 2nd, R)
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Correctness of Programs: Conditionals

Is this program correct? Z

"

bigger := x(??smaller :

else .

[bigger = yi;,smaller ;
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Correctness of Programs: Sequential Composition

Is{ True } tmp := x; x := y; y := tmp{ x>y } correct?
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